—EAEEALEYvA—HE

AR ER

D

A4 F770ERFAERE F43EMETOVIARE ]
== 202248A7H(B)  16:30 |EH&T 705 =54 T EAEKREESLARZBEMNLE(AIZA)
X & BN KUl 343°C| BE 63% JE 55 WBGT 29.1°C

EETHEE (1T EE:S R —# FAEHE 2R s s AIZ HEH
F E gk 2z EE:S # BT EREEEEE KR X— 72 50 A
0 CIES 1
®# B B |3 4t 3| F N =
KICK OFF ER&Y KICK OFF
PK
K a—hk a—+ K
—1F = EF4 E BN EMLE|ES EFE TR
No. (OUTHFFH| % IERT: & : AT | & i | BT % ERTEZ|OUTRERRE No.
XE # 12| k| ak| 12 B 1Esk
HE AFH 3 |DF|DF| 3 Bl X—
HH @ 4 |DF|DF| 5 =H Rt
HT X &H&H 15| DF| DF | 15 E &KX
tHEX 16 | DF| DF | 13 Rk BR
705> ot 7 |MFIMF| 6 wmE b
HT 1 1| 1 ER #hiE 8 | MFIMF| 7 B Bk
1 1 E L ¥ 10 [ MF| MF]| 8 B KR
ThE TR 2 |FW|MF| 9 ZH BAE 1] 1
HT il NS5 9 | Fw]Fw| 10 FHRE 213 [1:2
1 1 e RAER 14| FW]FW| 16 BIK K 2|2 HT
Kikh REER 1 |ek|ak| 1 ALl EfE
15 iFiE &2 5 | DF|MF| 2 R KiE 8
9 #5T IRAER 11 |FW| DF| 4 ik 587 709
8 1 1| 1 Th— fB&E 13| FW] FW | 11 B4t B 1|1 1 2
MF | 14 WK K55 6
Z2&-R15 BEE BB Z2&-R15
M- Z 3B | No. K4 E = P& RS #= E = K4 No. | . 5R - B ]
TR AT e B o E | 77 FHRE 10| 577
omr o® x| TOOEE wow g o
4 0| 4|>a—r7|4:3
6410 GK [2]1:1
022 ck [4]1:3
5:9 14| EBEFK[ 5] 3 2
1:5 |6 |MEEFK| 1|01
1 5 6 |F7914)]| 1 0 1
1101 PK | 1|0:1
SR /FREF—L | No "TRE TORN BafEf 86 ~:FYJ)IL —:do/R 1 FEHRAR X GBE S:va—k H:ATaUYT
645 FNINE 10 EHRE 8 g2 10 - 8 ~ R — 10 imssn-i HRES
445y mER Aord—)L 1 EEFKD 14 1 1 FMFGK YUT 1 X iAvE—n
5043 EER 13 Th— 1B& PK 13 BR&S
645> FENE |10 FHRE PK 10 R8s
6557 FINE | 11 Bt & 9 FR3 | E#EFK 3 1 R 9 H 1 11 2syFut
GR2S
695> w28 |10 BL BE% 13 Ei1 13 ~ - e 10 ~ ERES
PKEL D218 1 2 3 4 5 6 7 8 9 10 11 12 13 14




—EAEEALEYvA—HE

N WTRE AXeal F77RERAERE F43EMEITAVIARE ]
B B 202248A7H(B)  16:30 |EH&T 705 =igH | TEARAAKREEHLAEZ BEE(AIZB)
X & BN KUl 343°C| BE 63% JE 55 WBGT 29.1°C
EETHEE 1T R BT =i KRE FaEHa HEHR pEE g AIZ HEH
F B INE EX BT BT & SCERIE Y Kiss @5 72 50 A
1 CIES 0
2 ® B | 3 D+ -—1+"1 0| & @ &
KICK OFF ER®ZY KICK OFF
PK
K a—hk ) a—bk K
—1F = EF4 E BN EMLE|ES EFE TR
No. (OUTHFFH| % IERT: & : AT | & i | BT % ERTEZ|OUTRERRE No.
AYZI392 WE | 12| GK|GK]| 12 BAR 1K
1 1] 1 ER RE 2 |DF|DF| 2 N EE
Kig # 3 |bF|DF]| 3 = REAXNER
TH HE 4 | DF|DF| 4 kB Bt
575> L FH 5 | DF|DF| 13 aH ER 42453
705> 1| 1 —= @ 6 | MF|MF| 6 — JEEA 1 1 535
1 1 A% iR 8 | MF|MF| 8 BIERFED 1] 1 684>
WHE Bt 9 | MFIMF| 10 wH#H BEX 1 (1
=8 —t 13 | MF|MF| 14 Wt 1&E 11
11| 2] 1 ] 15| FW]Fw| 9 &R &5
70+1% 4115 A &t 10 | FW|FW| 16 WH MZzE HT
B R 1 |ek|aek]| 1 FIER EEX
10 i mE 7 |MF|DF| 5 A B 8
5 ZH B 11 | MFIMF| 7 N Xk 704> 13
6 3 3| 1 BE EE 16 | DF|MF| 15 e+t X 2
6
Z2&-R15 BEE BB Z2&-R15
M- Z 3B | No. K4 E = == i R EE E = K4 No. | . 5R - B ]
37 | E| 4 FH KE 37 | %A _ B mEOE| I7 —/HES 6| Z| 47
omr o® x| TOOEE wow g o
10: 3 |13|>a—k| 4|31
1i1l2] GK [14] 6 8
6 1|7 CK | 3|12
3:3|6|EEFK[5]3:2
0: 0| O |fEEFK|[ 101
0 0 0 |FF7H4148)] 1 0 1
o:0|lo| PK [o|O0:ioO
SR FRF—L | N (3= TORN BafEf 86 ~:FYJ)IL —:do/R 1 FEHRAR X GBE S:va—k H:ATaUYT
645> BIEE | 15 (1] &3 R X 15 imws-i KRS
40%> ZIEE | 16 BE HBE 3 g2 8 S RRE T ORY g1 3 H 1 16
wavri—i /RS
685 ZRE 2 BEX RE %ZCK 2 R8s
PKEL D218 1 2 3 4 5 6 7 8 9 10 11 12 13 14






